FIND A VIDEO ON HOW 10
/é(S)%l[VIBl[ THE OUTDOOR TABLE AT

cozze




M4*8 D16*06.5




M6*12

M6*12




M6*12 6




M6*12

8pcs.

10

n




M6*12

2pcs.

M4*8

2pcs.

13

M6*12

2pcs.

M4*8

2pcs.

14




QW7

7 S

Ly m\\



HIND A VIDEQ ON HOW 10
ASSEMBLE THE QUTDOOR TABLE AT
COZZEBBQ . COM/ASSEMBLY

[=]

]

Manufactured by

Millarco International A/S
Rokhgj 26, 8520 Lystrup - Denmark
millarco.com

cozzebbq.com

SSEEBNTN
. o~ :}\‘:

cozze



